
Solutions to Sample Problems for Exam 2

Calculus I, MTH 231
Instructor: Abhijit Champanerkar
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2.
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4. Done in class. See in book.
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12.
Discussed in clas after Exam 1.

13.
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14.

15. Using Implicit differentiation y′ = −4x/y. Since tangent is parallel to y = 2x + 10,
y′ = −4x/y = 2 =⇒ y = −2x. In order to get the points, we need to substitute this
back in the equation i.e.

4x2 + (−2x)2 = 8 =⇒ 8x2 = 8 =⇒ x2 = 1 =⇒ x = ±1.

Since y = −2x, this givesx = 1, y = −2 and x = −1, y = 2. The points are (1,−2)
and (−1, 2).
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